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Section—A
(DISASTER M ANAGEMENT
(Very Short Answer

Fype Questions

. (3 What are safe constiuction practices

(b) Define first degree burn.

(Objective Type Questions)

2. Fillvimthe blank

| 1 ' Disaster Management
The ... wrveennnne. i8S ‘the head of Village
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Section-B
(HISTORY)

(Long Answer Type Questions)

3. {a) Describe four stages of unification of Germany.

Or

) . . ') : LF=Y TN
Why did nationalist tensions emerge in Balkans ? Give reasong

() Why did various classes and groups of Indians participate in the

avil disobedience movement ? Discuss.

Or

Explain how the first world war helped in the growth of

National Movement in India.

(Short Answer Type Questions)
4. (@ How the global transfer of disease in the pre-modern

world
helped in the colonisation of America ?

Or
,  What is referred 10 as the .77 countries ? In what ways can
G-77 be scen as reaction o the activities of Bretton Woods
Twins ?
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Qive reasons
. 4
(c) Describe how print ¢y

| P ure assisted the growth of nationabsm o

‘India.
(8]

What did the spread of pnmt culture 1n foth  century  Indis
means t0 women and poor P'CUPIC J

(Very Short Answer Type Questions)

L

5. (a) What do you understand by concept of a Modern State

(b) Examine the role of mussionanes in the growth of press

India.

L)

(Objective Type Questions)
6. Choose the correct/most appropnalc answer .
(8 Who found I. N. A. ?
| (i)  Pt. Jawaharlal
(i1) | Subhash Chandra Bose
(iii) Mahatma Gandhi |

(iv) None of these
Turn Over
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() Fill in the blank :
The loss of cattle destroyed Afrnican ...

changed the form in the modern ... .

and industrialisation
1r'2+|,f]

(c) Write True/False :

The speed of urbanisation in Mumbai was faster than London. |

(d) One word substitution ;
A Suo-motu decision by Mufti upon a complicated case is

known as ... and the person who composes the text for
printing is called ............ . Y+l

Section-C
(GEOGRAPHY)
(Long Answer Type Questions)
7. (a) Describe various technological and institutional reforms which
led to green and white revolution in India.
Or
Give the climatic conditions required for the growth of Rice
cultivation. Mention the leading rice growing states with their
contribution to the total rice production in India.
(b) Why do you think that solar energy has bright future in India ?
Give reasons,
Or
Describe the importance, distribution and production of Iron ore
in India,

SSEWZIN15—6605-R

C-5-R



(Short Answe
g (@ What are Natyrg) Resoy
necessary ?

r

Type Questions)
rces 7 w

‘rhy IS conservation of resources
(Jr

What is land degradajjoy, ? Suggest m
_ ¢

' ' asures for its conservatio 1
(b) Give the importance. SOurces nservation

and uses of water in India briefly
Or
What is rain water harye

(c) Map Work :

sting ? Describe -
mg 7 Describe its main objectives. 4

Indicate any four major Iron and Steel Plants in a eiven outline

map of India.

Or
Indicate any four major Cotton Textile Industries in a given
out-line map of India. 4

(Very Short Answer Type Questions)

9. (a) Explain two physical factors that affect the location of Industries. 2
(b) Name any four international airports of India. 2
(Objective Type Questions)
10. Choose the correct/most appropriate answer.
(a) Over use of resources lead O .ooooovieenns .
(i) Pollution (ii) Conservation
(i) Help the environment (iv) None of these ]
Turn Over
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rmanent forests ?

(b) Which State has largest area under pe
i) J & K

(i)  Punjab
(iv) M.P. !

(iti) U.P.
(c) Fill in the blank :
is the largest producer of sugarcane.

-----------

(d) Write True/False :

India has a road length of about 25 lakh kilometres.

(True/False) l

(¢) Exchange of goods between two parties, States and countries i

known as trade. (True/False) |

Section-D
(POLITICAL SCIENCE)
(Short Answer Type Questions)

11. (a) What are the different- forms of power sharing in modem
democracies ? Explain your answer with examples,

Or
What is a Federalism 7 Describe its features in detail.

(b) What are the three determinants to accommodate social division

in politics ? _

Or

,// Write a note on the diversity of Jammu and K ashmir
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What 1s
© at is a Pressure Group ? Discuss the role of pressure groups

Y in the modem democracies
Or

Define a politi : i
political party. Write a short note on the ideologies of
each poliucal party in Jammu and Kashmir. 4

~“Describe the conditons . . _
(¢ De condinons under which democracies accommodate
social diversities.

Or
M |

' / Why 18 democracy known as a better form of Government
Discuss.

(Very Short Answer Type Questions)
" Explain the statement. 2

12. “RTI Act is the outcome of Democracy.’

(Objective Type Questions)

13. Choose the correct/most appropriate answer
(a) People's Conference Wwas ‘fuunded on 6th September :

i) 1978 (m) 1979

(iii) 1980 (iv) 1981 l

(b) J & K Govt. enacted RTT law in .o .

(i) 2004 (i) 2005
i

(in) 2006 (iv) 2007
Turn Qver
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Section-E
(ECONOMICS)
(Long Answer Type Questlons) .
14. The growth of handicraft and handloom industry in the State is
slow. Why ? Give reasons

Or

o and
Write down the basic objectives of forest policy in Jammu an
Kashmir.

(Very Short Answer Type Questions)

15. Name the important tourist interest places in Kashmir and Iadak),

(Objective Type Questions)
16. Fill in the blank
(@) Full form of PPP is

............

(b) Write True/False

SSEWZIN15—-6605-R

C-5-R

2



